
 SSC CGL Mock-9

 General Intelligence
Direction for questioni 1 to 3 : Select the related
figure/letters/number from the given alternatives.

ØeMve mebKÙee 1 mes 3 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
mecyebefOele Meyo/De#ej/mebKÙee keâes ÛegefveS~

1. MLKJ : NOPQ :: IHGF : ?
(a) UTSR (b) RSTU (c) SRUT (d) UTRS

2. 5
9

7
13

10
19

: : : : ?

(a) 14
26

(b) 14
27

(c) 12
23

(d) 14
25

3. Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej DeekegâefleÙeeB :

Direction for question 4 to 6 : Find the odd word/
letters/numbers from the given alternatives.

ØeMve mebKÙee 4 mes 6 lekeâ kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
efJe<ece mebKÙee/De#ej/mebKÙee Ùegice ÛegefveS~
4. (a) Message/mebosMe (b) Information/metÛevee

(c) Matter/heoeLe& (d) Material/mece«eer
5. (a) 7-145 (b) 6-108 (c) 5-75 (d) 4-48
6. (a) 8662 (b) 5731 (c) 4628 (d) 2864
7. Arrange the following words in a meaningful

order :
efvecveefueefKele efJekeâuheeW ceW mes keâewve-mee efJekeâuhe veerÛes efoÙes ngS MeyoeW
keâe meeLe&keâ ›eâce oMee&lee nw :
1. Grapes/Debietj
2. Vineyard/Debietj keâe Kesle
3. Whisky/ceefoje
4. Brewing/ceefoje yeveeves keâer ef›eâÙee
5. Distillation/DeemeJeve
(a) 2, 1, 5, 4, 3 (b) 3, 5, 4, 2, 1
(c) 2, 1, 4, 3, 5 (d) 2, 1, 4, 5, 3

8. Which will appear fourth in the English
dictionary?

efvecve ceW mes Deb«espeer MeyokeâesMe kesâ Devegmeej ÛeewLes mLeeve hej keâewve
nesiee?
(a) Xylophilous (b) Xylophagus
(c) Xylopyrography (d) Xylophagan

Directions for question 9 and 10 : Choose the correct
alternative from the given responses that will
complete the series.

ØeMve mebKÙee 9 Deewj 10 kesâ efueS efveoxMe : efoS ieS efJekeâuheeW ceW mes
Gme mener efJekeâuhe keâe ÛegveeJe keâjW pees ëe=bKeuee keâes hetje keâjleer nw
9. 3 7 13 ? 31 43 57

(a) 51 (b) 81 (c) 41 (d) 21
10. EJOT, INSX, MRWB, ?

(a) CHMS (b) XTOJ (c) BGLQ (d) QVAF
11. If ‘P’ stands for ‘ ’, ‘Q’ stands for ‘×’, ‘R’ stands

for ‘+’, then
Ùeefo ' 'P  keâe DeLe& ‘ ’ ‘ ’Q  keâe DeLe& ‘ ’ , ‘ ’R  keâe DeLe& ‘ ’ nes,
lees
18 Q 12 P 4 R 5 = ?
(a) 59 (b) 26 (c) 11.7 (d) 2.33

12. My father has two brothers. The youngest has
two sons and one daughter. The elder one has
one son and two daughters adn the remaining
one has three sons. If my father has four
nephews. how many cousins (brothers) have I
got?
cesjs efhelee kesâ oes YeeF& nQ~ meyemes Úesšs YeeF& kesâ oes yesšs Deewj Skeâ
yesšer nw~ yeÌ[s YeeF& kesâ Skeâ yesše Deewj oes yesefšÙeeB nw Deewj Mes<e Skeâ
kesâ leerve yesšs nw~ Ùeefo cesjs efhelee kesâ Ûeej Yeleerpes nQ lees cesjs efkeâleves
ÛeÛesjs YeeF& nQ
(a) 6 (b) 4 (c) 7 (d) 5

13. From the given alternatives, select the word
which cannot be formed using the letters of
the given word.
efvecveefueefKele efJekeâuheeW ceW mes Jen Meyo ÛegefveS pees efoS ieS Meyo kesâ
De#ejeW keâe ØeÙeesie keâjkesâ veneR yeveeÙee pee mekeâlee :
ACCOMPANIED
(a) PANIC (b) COME (c) COMB (d) PAIN

14. In a certain code language, “TOGETHER” is
written as “EGTORETH”. How is
‘CONGRATULATE’ written in that language?
Ùeefo Skeâ ketâš Yee<ee ceW “TOGETHER” keâes
“EGTORETH” efueKee peelee nw, lees Gme ketâš Yee<ee ceW
“CONGRATULATE” keâes efkeâme Øekeâej efueKee peeSiee?
(a) GRTULTEANOC (b) GNCOUTRAETLA
(c) GNOCUTARETAL (d) GLNAOTCEURTA
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Directions for question 15 to 16 : Find the missing
number from the given responses

ØeMve mebKÙee 15 Deewj 16 kesâ efueS efveoxMe : efoS ieS GòejeW ceW mes ueghle
mebKÙee %eele keâerefpeS~
15.

(a) 43 (b) 17 (c) 23 (d) 37
16. 6  11  25

8   6   16
?   5   16
(a) 10 (b) 14 (c) 12 (d) 16

17. In the following Venn diagram, identify the
letter which denotes Film Actors who are
singers but not Directors.
veerÛes efoS Jesve DeejsKe ceW keâewve-mee De#ej Gme efheâuce DeefYevesleeDeeW
keâes Debefkeâle keâjlee nw pees ieeÙekeâ nw uesefkeâve efveoxMekeâ veneR nw?

(a) D (b) C (c) E (d) F
18. Ram walked 6 ft towards West, he turned left

and walked 8 ft, then turned left and walked 4
ft, again he turned left and walked 8 ft. How far
is he now from the starting point?
jece 6 heâerš heefMÛece keâer Deesj Ûeuee yeeSB cegÌ[e Deewj 8 heâerš Ûeuee,
Gmekesâ yeeo Jen yeeSB cegÌ[e Deewj 4 heâerš Ûeuee, hegve: yeeSB cegÌ[e Deewj
8 heâerš Ûeuee~ ØeejefcYekeâ mLeeve mes Deye Jen efkeâleves otj nw?
(a) 8 ft (b) 6 ft (c) 4 ft (d) 2 ft

19. How many black-faced cubes are there in the
given structure?
oer ieF& Deeke=âefle ceW efkeâleves keâeues melen Jeeues Ieve nw?

(a) 75 (b) 55 (c) 25 (d) 15
20. In the following diagram, rectangle represents

males, circle represnets urbans and square
represents educated Which region represents
educated urban males?
efvecveefueefKele Deeke=âefle ceW DeeÙele heg™<eeW keâes oMee&lee nw, Je=le Menjer
keâes Deewj Jeie& efMeef#eleeW keâes oMee&leW nw~ keâewve-mee #es$e efMeef#ele Menjer
heg™<e keâes oMee&lee nw?

(a) 5 (b) 4 (c) 6 (d) 7
21. Two statements are given, followed by two

conclusions I and II. You have to consider the
statements to be true, even if it seems to be at
variance from the commonly known facts. you
have to decide which of the given conclusions,
if any, follows from the given statements.
oes keâLeve efoS ieS nQ, efpemekesâ Deeies oes efve<keâ<e& I Deewj II efvekeâeues
ieÙes nQ~ Deehekeâes efJeÛeej keâjvee nw efkeâ keâLeve melÙe nQ Ûeens Jen
meeceevÙele: %eele leLÙeeW mes efYevve Øeleerle nesles neW~ Deehekeâes efveCe&Ùe
keâjvee nw efkeâ efoS ieS keâLeveeW ceW mes keâewve-mee efveefMÛele ™he mes mener
efve<keâ<e& efvekeâeuee pee mekeâlee nw~
Statements/keâLeve :
All scientists are hard-working.
meYeer Jew%eeefvekeâ cesnveleer nesles nw~
No hard-working man is poor.
keâesF& cesnveleer Deeoceer iejerye veneR nw~
Conclusions/efve<keâ<e& :
I. No scientist is poor/keâesF& Jew%eeefvekeâ iejerye veneR nw~
II. No poor man is scientist/keâesF& iejerye Deeoceer Jew%eeefvekeâ veneR

nw~
(a) Only conclusion I follows./kesâJeue efve<keâ<e& I DevegmejCe keâjlee

nw~
(b) Only conclusion II follows./ kesâJeue efve<keâ<e& II DevegmejCe

keâjlee nw~
(c) Both conclusions I and II follow/oesvees efve<keâ<e& I Deewj II

DevegmejCe keâjlee nw~
(d) None of the conclusions I or II follows./I Ùee II ceW mes

keâesF& efve<keâ<e& DevegmejCe veneR keâjlee nw~
22. Select the answer figure in which the question

figure is hidden/embedded.
oer ieF& Gòej Deeke=âefleÙeeW ceW mes Gme Gòej Deeke=âefle keâes ÛegefveS efpemeceW
ØeMve Deeke=âefle efveefnle nw~
Question figure/ØeMve Deeke=âefle :

Answer figures/Gòej Deeke=âefleÙeeB :
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23. A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear
when opened.
veerÛes ØeMve Deeke=âefleÙeeW ceW efoKeeS Devegmeej keâeiepe keâes ceesÌ[keâj
keâešves leLee Keesueves kesâ yeeo Jen efkeâme Gòej Deeke=âefle pewmee efoKeeF&
osiee?
Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

24. If a mirror is placed on the line MN, then which
of the answre figures is the right image of the
given figure?
Ùeefo Skeâ ohe&Ce keâes MN jsKee hej jKee peeÙes, lees oer ieF& Gòej
Deeke=âefleÙeeW ceW mes keâewve meer Deeke=âefle ØeMve Deeke=âefle keâe mener Øeefleefyecye
nesieer
Question figure/ØeMve Deeke=âefle

Answer Figures/Gòej Deeke=âefleÙeeB

25. A word is represented by only one set of
numbers as given in any one of the
alternatives. the sets of numbers given in the
alternatives are represented by two classes of
alphabest as in the two matrices given below.
The columns and rows of Matrix-I are
numbered form 0 to 3 and that of Matrix-II are
numbered from 4 to 7. A letter from these
matrices can be represented first by tis row
and next by its column, e.g., and ‘L’ can be
represented by 46, 54, 75, etc. Similarly, you
have to identify the set for the word ‘BUILT’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw pewmee efkeâ
efJekeâuheeW ceW mes efkeâmeer Skeâ ceW efoÙee ieÙee nw~ efJekeâuheeW ceW efoS ieS
mebKÙee-mecetn De#ejeW kesâ oes Jeieex Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS oes DeeJÙetneW ceW nw~ DeeJÙetn-I kesâ mlecYe Deewj hebefkeäle
keâer mebKÙee 0 mes 3 Deewj DeeJÙetn-II keâer ›eâceMe: 4 mes 7~ Fve
DeeJÙetneW mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj yeeo ceW mlecYe
mebKÙee Éeje oMee&Ùee pee mekeâlee nw~ GoenjCe kesâ efueS, ‘ ’A  keâes
00, 12 Deeefo Éeje oMee&Ùee pee mekeâlee nw leLee ‘ ’L  keâes 46, 54,

75 Deeefo Éeje oMee&Ùee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes veerÛes
efoS Meyo kesâ efueS ‘BUILT’ mecetn keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7

0 A M T I 4 E B L U

1 T I A M 5 L U E B

2 I A M T 6 U E B L

3 M T I A 7 B L U E

(a) 74, 47, 03, 45, 02 (b) 45, 76, 11, 54, 31
(c) 57, 64, 20, 46, 11 (d) 66, 55, 32, 55, 22

 General Awareness
26. Which one of the lowest point of Asia?

SefMeÙee keâe meyemes efvecvelece efyevog keâewve-mee nw?
(a) Lake Assai/ DemeeF& Peerue
(b) Dead sea/ ce=le meeiej
(c) Death Valley/ [sLe Jewueer
(d) Valdes Peninsula/ Jesefu[me hesefveve

27. Who is known as the 'father of medicine?
‘Deew<eefOe kesâ efhelee’ kesâ ™he ceW efkeâmes peevee peelee nw?
(a) Sophocles/ meesheâeskeäueerpe (b) Pythagoras/heeFLeeieesjme
(c) Hippocrates/efnhhees›esâšme (d) Hipparchus/efnhheejkeâme

28. The book named 'The Wealth of Nations is
written by-
‘o JesuLe Dee@heâ vesMevme’ veecekeâ hegmlekeâ efkeâmekesâ Éeje efueKeer ieF&
nw?
(a) Marshall/ ceeMe&ue
(b) Hicks/efnkeäme
(c) Irwin Fisher/ FjefJeve efheâMej
(d) Adam Smith/ S[ced efmceLe

29. The 'Concurrent List' in Indian Consitution is
taken from the consitution of which country?
‘meceJeleea metÛeer’ YeejleerÙe mebefJeOeeve ceW efkeâme osMe kesâ mebefJeOeeve mes ueer
ieF& nw?
(a) France/øeâebme (b) Australia/ Deemš^sefueÙee
(c) USA/ Ùet.Sme.S (d) Britain/efyeÇšsve

30. If a red paper is viewed in yellow light, the
colour of the paper will be-
Ùeefo ueeue jbie kesâ keâeiepe keâes heerueer jesMeveer ceW osKee peeS lees
keâeiepe keâe jbie kewâmee efoKeeF& osiee?
(a) Red/ueeue (b) Green/nje
(c) Black/keâeuee (d) Yellow/heeruee

31. Lactometer is used to measure-
ueskeäšceeršj efkeâmekesâ ceeheve kesâ efueS ØeÙeesie efkeâÙee peelee nw?
(a) Relative density of Milk/otOe keâe meehesef#ekeâ IevelJe
(b) Pressure of Gasses/iewmees keâe oyeeJe
(c) Magnetic flux/ÛegcyekeâerÙe ØeJeen
(d) Volume of substances/heoeLe& keâe DeeÙeleve
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32. Which city is known as the 'Silicon Valley' of
India?
Yeejle kesâ efkeâme Menj keâes ‘efmeefuekeâve Jewueer’ kesâ veece mes peevee peelee
nw?
(a) Delhi/efouueer (b) Pune/hetCes
(c) Bengaluru/yeWieuet™ (d) Chennai/ÛewVeF&

33. The Headquarter of (ASEAN) Association of
South-East Asian Nations is situated in-
(DeeefmeÙeeve) SmeesefmeSmeve Dee@heâ meeGLe-F&mš SefMeÙeve vesMeveme keâe
cegKÙeeueÙe keâneB efmLele nw?
(a) Myanmar/ cÙeebceej
(b) Thailand/LeeF&uewC[
(c) Indonesia/FC[esvesefMeÙee
(d) Switzerland/mJeeršpejuewC[

34. Vapour Pressure of a liquid increases with-
õJe keâe Jee<he oeye yeÌ{lee nw?
(a) Increase in temperature/leeheceeve kesâ yeÌ{ves hej
(b) Decrease in temperature/leeheceeve kesâ Iešves hej
(c) Constant temperature/efmLej leeheceeve hej
(d) None of these

35. Scientific name of frog is-
ceW{keâ keâe Jew%eeefvekeâ veece keäÙee nw?
(a) Felis domestica/ hesâefueme [escesefmškeâ
(b) Rana tigrina/jevee efšieefjvee
(c) Bos Indicus/ yeesme FefC[keâme
(d) Pisum Sativum/heermece mesšerJece

36. Which one of the Upaveda is associated with
Rigveda?
keâewve-mee GheJeso $e+iJeso mes mecyeefvOele nw?
(a) Arthved/ DeLe&Jeso
(b) Gandharvaveda/ieevOe Je&Jeso
(c) Dhanurveda/OevegJexo
(d) Shilpveda/efMeuheJeso

37. Which one of the following is not a operating
system?
efvecve ceW mes keâewve-mee Skeâ Deehejsefšbie efmemšce veneR nw?
(a) LINUX/ueeFveskeäme (b) UNIX/Ùetefvekeäme
(c) MACOS/ceskeâe@me
(d) RDBMS/Deej [er yeer Sce Sme

38. America was discovered by Christopher
columbus in the year-
ef›eâmšesheâj keâesuecyeme Éeje Decesefjkeâe keâer Keespe efkeâme Je<e& keâer
ieF&?
(a) 1496 (b) 1495 (c) 1493 (d) 1492

39. Hirakud Project is associated with the river-
nerjekegâ[ heefjÙeespevee efkeâme veoer mes mecyeefvOele nw?
(a) Damodar/oeceesoj veoer mes
(b) Mahanadi/ceneveoer veoer mes
(c) Satluj/meleuegpe veoer mes
(d) Rihand/efjnvo veoer mes

40. The total number of bones of head-
efmej keâer kegâue nefñÙeeW keâer mebKÙee efkeâleveer nw?
(a) 27 (b) 28 (c) 29 (d)30

41. What is written in Article 17 in the
Constitution of India?
YeejleerÙe mebefJeOeeve kesâ DevegÛÚso 17 ceW keäÙee efueKee ieÙee nw?
(a) Abolition of titles/GheeefOeÙeeW keâe Devle
(b) Equality before/keâevetve kesâ mece#e meceevelee
(c) Abolition of untouchability/Demhe=MÙelee keâe Devle
(d) Right to education/efMe#ee keâe DeefOekeâej

42. The refractive index of diamond is-
nerjs keâe DeheJele&veebkeâ keäÙee nw?
(a) 2.415 (b) 2.200 (c) 3.415 (d) 5.415

43. Which is the highest peak of Peninsula
plateau?
ØeeÙeÉerheerÙe he"ej keâer meyemes TBÛeer Ûeesšer keâewve-meer nw?
(a) Anamudi/Deveeceg[er (b) Nanga Parvat/vebiee heJe&le
(c) Kamet/keâecesle (d) Broad Peak/yeÇe[ heerkeâ

44. PAHAL scheme is based on the-
‘henue Ùeespevee efkeâme hej DeeOeeefjle nw?
(a) Child Labour/yeeue ßece
(b) LPG subsidy/Sue.heer.peer.meefyme[er
(c) Save Girl child/yesšer yeÛeeDees
(d) Clean India/mJeÛÚ Yeejle

45. Who administer the oath of the Governor in
India?
Yeejle ceW ieJeve&j keâes MeheLe keâewve efoueJeelee nw?
(a) President/ je<š^heefle
(b) Vice-President/Ghe-je<š^heefle
(c) Speaker of Loksabha/ ueeskeâmeYee DeOÙe#e
(d) Chief Justice of High/GÛÛe vÙeeÙeeueÙe kesâ cegKÙe vÙeeÙeeOeerMe

46. The Ph value of Human blood is-
ceeveJe jòeâ keâe heer.SÛe.ceeve keäÙee nw?
(a) 7.2 (b) 6.8 (c) 7.4 (d) 8.0

47. Which is not the unit of heat?
keâewve-meer leehe keâer FkeâeF& veneR nw?
(a) Joule/petue (b) Watt/Jeeš
(c) Calorie/kewâueesjer (d) Therm/Lesce&

48. Durand Cup Tournament is related to-
[tjC[ keâhe efkeâme ØeefleÙeesefielee mes mecyeefvOele nw?
(a) Cricket/eq›eâkesâš (b) Hockey/ne@keâer
(c) Football/hegâšyee@ue (d) Tennis/šsefveme

49. The book 'Parijat' has been authored by
whom?
‘heefjpeele’ veece hegmlekeâ efkeâmekesâ Éeje efueKeer ieF& nw?
(a) Mridula Garg (b) Ramdarash Mishra
(c) Nilotpal Mrinal (d)Nasira Sharma

50. Which of the following has launched world's
first chat operating system?
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efvecveefueefKele ceW mes efkeâmeves ogefveÙee keâe henuee Ûewš Deehejsefšbie
efmemšce Meg™ efkeâÙee nw?
(a) Flock/heäuee@keâ (b) Microsoft/ceeF›eâesmee@heäš
(c) Infosys/Fbheâesefmeme (d) Reliance/efjueeÙevme

Maths
51. The value of 999 996

999
999 996 is-

999 996
999

999 996 keâe ceeve nw-

(a) 999093 (b) 999993
(c) 989991 (d) 989983

52. The value of 11 981 7 1 2996. .  is

11 981 7 1 2996. .  keâe ceeve nw-
(a) 4.1 (b) 4.9 (c) 5.1 (d) 4.5

53. Four equal maximum size circular plates are
cut off from a square paper sheet of area 1225
m 2 . Find the circumference of each plate.
Ûeej meceeve DeefOekeâlece Deekeâej keâer Je=òeekeâej huesšeW keâes Jeiee&keâej
keâeiepe keâer Meerš, efpemekeâe #es$eheâue 1225ceer 2  mes keâeše ieÙee nw~
ØelÙeskeâ huesš keâer heefjefOe %eele keâjW~
(a) 44cm (b) 55 cm (c) 56 cm (d) 36 cm

54. In the given figure, O is the centre of the circle.
What is AOC?
efoÙe ieS efÛe$e ceW, O Je=òe keâe kesâvõ nw~ AOC efkeâlevee nw?

(a) 160  (b) 150  (c) 120  (d) 100 

55. If x
x

y
y

z
z1 1 1

2 , then the value of

1
1

1
1

1
1x y z

 is

Ùeefo x
x

y
y

z
z1 1 1

2nw~ lees

1
1

1
1

1
1x y z

 keâe ceeve %eele keâjW~

(a) 2 (b) 4 (c) 5 (d) 3
56. If average of 15 observations a a a1 2 15, . . .  is b,

then the average of
( ), ( ). . .( )a a a1 2 15101 101 101  is-
15 ceeheveeW a a a1 2 15, . . .  keâe  Deewmele b nw, leye
( ), ( ). . .( )a a a1 2 15101 101 101  keâe Deewmele %eele keâjW~
(a) b 101 (b) b 15
(c) 15b (d) 101b

57. Rohit climbs 62 1
2

% of the height of the pole in

first hour and in the next hour, he covers 12 1
2

%

of the remaining height. If pole's height 192 m,
then the distance climed in second hour is-

jesefnle henues Iebšs ceW Skeâ heesue kesâ 62 1
2

% TBÛeeF& lekeâ ÛeÌ{lee nw

Deewj Deieues Iebšs ceW Jen Mes<e TBÛeeF& keâe 12 1
2

% ÛeÌ{ peelee nw~Ùeefo

heesue keâer TBÛeeF& 192 ceer nw lees otmejs ceW ÛeÌ{er ieF& TBÛeeF& nesieer-
(a) 9m (b) 3 m (c) 5 m (d) 7 m

58. A milkman claims to sell milk at the cost price
only, but he is making a profit of 20%, since he
has mixed some amount of water in the milk.
What is the percentage of milk in the mixture?
Skeâ otOe efJe›esâlee Ùen oeJee keâjlee nw efkeâ Jen otOe keâes kesâJeue ueeiele
keâercele hej yesÛe jne nw efkeâvleg 20% ueeYe ues jne nw, keäÙeeWefkeâ Gmeves
otOe ceW kegâÚ cee$ee ceW heeveer efceueeÙee nw~ Fme efceßeCe ceW otOe efkeâlevee
ØeefleMele nw?
(a) 8% (b) 75% (c) 200

3
% (d) 250

3
%

59. Manish borrows Rs 12900 at 15% compound
interest. How much he has to pay annually at
the end of each year, to settle his loan in two
years?
ceveer<e 15% Ûe›eâJe=efæ yÙeepe oj hej ™ 12900 keâe $e+Ce ueslee nw~
nj Je<e& kesâ Deble ceW Gmes yejeyej efkeâleveer efkeâmle osveer heÌ[sieer efkeâ oes
Je<eeX ceW $e+Ce keâe Yegieleeve nes peeS?
(a) Rs 6955 (b) Rs. 6500
(c) Rs. 7500 (d) Rs. 7935

60. A man travels 1000 km by train at 120 km/hr ,
1200 km by ship at 300 km/hr and 150 km by car
at 75 km/hr. What is the average speed for the
entire journey?
Skeâ JÙeefòeâ 1000 efkeâceer keâer Ùee$ee jsue Éeje 120 efkeâceer.Iebšs mes
1200 efkeâceer keâer Ùee$ee penepe Éeje 300 efkeâceer/Iebšs mes leLee 150
efkeâceer keâer Ùee$ee keâej Éeje 75 efkeâceer/Iebšs mes leÙe keâjlee nw~ Gmekeâer
kegâue Ùee$ee kesâ efueS Deewmele ieefle keäÙee nesieer?
(a) 135 km/hr (b) 164 km/hr
(c) 158 km/hr (d) 148 km/hr

61. A wall of 300 metres can build by 9 men or 11
women in 15 days. How many days will will 18
men and 22 women take to build a wall of 800
meters?
300 ceer. uecyeer oerJeej keâes 9 heg®<e Ùee 11 efŒeÙeeB 15 efoveeW ceW yevee
mekeâles nQ~ 18 heg®<e leLee 22 efŒeÙeeB 800 ceer. uecyeer oerJeej efkeâleves
efoveeW ceW yeveeSbies?
(a)  10 days (b) 8 days (c) 12 days(d) 15 days

62. Find the area of triangle whose medians are 5
cm, 12 cm and 13 cm.
Gme ef$eYegpe keâe #es$eheâue %eele keâerefpeS, efpemekeâer ceeefOÙekeâeSB 5
mesceer, 12 mesceer Deewj 13 mesceer nes~
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(a) 30 cm 2 (b) 40cm 2 (c) 60cm 2 (d) 50cm 2

63. The LCM of three different numbers is 120.
Which of the following cannot be their HCF?
leerve Deueie-Deueie mebKÙeeDeeW keâe ue.me. 120 nw~ FveceW mes keâewve
Gvekeâe ce.me. veneR nes mekeâlee nw?
(a) 24 (b) 25 (c) 12 (d) 8

64. A dishonest  rice vendor sells his goods at cost
price but they uses a weight 850 grams for the
1 kg weight. His gain percent is-
Skeâ yesF&ceeve ogkeâeveoej Dehevee meeceeve ›eâÙe cetuÙe hej yesÛelee nw~
uesefkeâve 1 efkeâ«ee kesâ mLeeve hej 850 «eece Yeejle Fmlesceeue keâjlee
nw~ Gmekeâe kegâue ØeefleMele ueeYe %eele keâjW~
(a) 17 11

17
% (b) 18 11

17
%

(c) 20% (d) 25%
65. A man takes 1

3
 times in moving a certain

distance downstream than upstream. The
ratio of the speed of the man in still water and
that of the current is-
Skeâ JÙeefòeâ keâes kegâÚ otjer lekeâ Oeeje kesâ Øeefleketâue peeves keâer leguevee ceW
Oeeje kesâ meeLe peeves ceW 1

3
 meceÙe ueielee nw~ efmLej peue ceW JÙeefòeâ keâer

Deewj Gme Oeeje keâer ieefle keâe Devegheele keäÙee nesiee?
(a) 2  : 1 (b) 1 : 2 (c) 3 : 1 (d) 1 : 3

66. A pole stands vertically inside a scalene
triangular park PQR. If the angle of elevation
of the top of the pole from each corner of the
park is same, then in PQR , the foot of the pole
is at the-
efkeâmeer efJe<eceyeeng ef$eYegpeekeâej heeke&â PQR kesâ leerveeW efyebogDeeW mes
heeke&â kesâ ceOÙe efmLele KecYes keâe GVeÙeve keâesCe meceeve nw~ leye KecYes
kesâ heeo keâe efyevog %eele keâjW~
(a) Orthocentre/ uecyekesâvõ (b) Centroid/heefjkesâvõ
(c) Circumcentre/heefjkesâvõ (d) Incentre/Devle:kesâvõ

67. A tap drips at a rate of one drop per second and
500 drops make 75 ml. The number of litres
wasted in 90 days is-
Skeâ veue mes Skeâ yetbo Øeefle meskeâC[ keâer oj mes heÌ[leer nw Deewj 500
yetBos efceuekeâj 75 efceueerueeršj yeveeleer nw~90 efoveeW ceW efkeâleves ueeršj
heeveer yeskeâej ieÙee?
(a) 1166.6 litres (b) 1166.4 litres
(c) 11664 litres (d) 11666 litres

68. A cone of height 20 cm and base diameter 70
cm is curved out of a wooden sphere of radius
35 cm. Find the percentage of used wood.
35 mesceer ef$epÙee Jeeues uekeâÌ[er kesâ ieesues ceW mes 20 mesceer TBÛeeF& leLee
70 mesceer. JÙeeme Jeeuee Skeâ Mebkegâ keâeše ieÙee~ Fmlesceeue ngS Yeeie
keâe ØeefleMele %eele keâjW~
(a) 131

3
% (b) 16 2

3
% (c) 6 2

3
%(d) 14 2

7
%

69. 250 litres of a mixture contains schools and
water in the ratio 3  : 7. After the addition of
some more alcohol to it, the ratio of alcohol to
water in the resulting mixture becomes 4 : 7.
The quantity of alcohol added to it is-
250 ueeršj Sukeâesnue Je heeveer kesâ efceßeCe ceW Sukeâesnue Je heeveer keâe
Devegheele 3:7 nw~ Ùeefo kegâÚ Sukeâesnue Deewj efceueeÙeer peeS lees
Devegheele 4:7 nes peelee nw~ lees efceueeS ieS Sukeâesnue keâer cee$ee nw-
(a) 20 litres (b) 25 litres
(c) 50 litres (d) 15 litres

70. If a 2 33 , then the value of a
a

3
3

1  is-

Ùeefo a 2 33 nw, lees a
a

3
3

1 keâe ceeve nw-

(a) 4 (b) 2 (c) 9 (d)8
71. If x A y A zsin cos , then the value of

x A y Acos sin  is-
Ùeefo x A y A zsin cos  nw, leesx A y Acos sin  keâe
ceeve nw-
(a) y z x2 2 2 (b) x y z2 2 2

(c) x z y2 2 2 (d) x z y2 2 2

72. AD is the diameter of a circle and AB is a chord.
If AD 34 cm and AB 30 cm the distance of
AB from the centre of the circle is-
efkeâmeer Je=òe keâe JÙeeme AD nw Deewj Gmekeâer Skeâ peerJee AB nw~ Ùeefo
AD 34mesceer Deewj AB 30 mesceer0 nes lees Je=òe kesâ kesâvõ mes
AB keâer otjer efkeâleveer nw?
(a) 15 cm (b) 13 cm (c) 17 cm (d) 8 cm

Direction for questions 23 to 25 : The pie chart
given below shows the number of student
enrolled in a school in different sport teams.
Total number of students in the school is 800.
Study the chart and answer the questions.

ØeMve mebKÙee 23 mes 25 kesâ efueS efveoxMe: veerÛes efoÙee ieÙee heeF& Ûeeš&
Skeâ mketâue ceW efJeefYeVe Kesue šerceeW ceW veeceebkeâve keâjves Jeeues efJeÅeeLeea
keâes oMee&lee nw~ efJeÅeeueÙe ceW kegâue efJeÅeeefLe&ÙeeW keâer mebKÙee 800 nw~
Ûeeš& keâes OÙeevehetJe&keâ heÌ{s, Deewj efove ieS ØeMveeW kesâ Gòej oW~

73. How many students are enrolled in Table
tennis and Volley ball team?
efkeâleves Úe$e šsefyeue šsefveme Je yee@ueeryeeue ceW Meeefceue ngS?
(a) 214 (b) 184 (c) 208 (d) 192
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74. The number of students enrolled in Cricket is
what percent of those enrolled in Football
teams?
ef›eâkesâš šerce ceW Meeefceue nesves Jeeues Úe$eeW keâer mebKÙee hegâšyeeue šerce
ceW Meeefceue Úe$eeW keâer efkeâleveer ØeefleMele nw?
(a)102.76% (b) 104.76% (c) 95.45% (d) 94.24%

75. What is the ratio of number of students
enrolled in Badminton and Hockey teams
together to those enrolled in Football?
yew[efcebšve leLee ne@keâer šerce ceW Meeefceue nesves Jeeues meYeer Úe$eeW leLee
hegâšyeeue šerce ceW Meeefceue nesves Jeeues Úe$eeW keâer mebKÙee ceW Devegheele
yeleeFS~
(a) 11 :7 (b) 7 : 11 (c) 4 : 11 (d) 7 : 9

English Comprehension &
Lancuage

Directions for question 1 to 3 : In each of the following
question, one part of the sentence has an error and the
other parts of the sentecne are correct. Find out which
part of the sentence has an error and mark that part as
your answer out of (a), (b) and (c). If a sentence is free
from error, then choose your answer as choice (d).
76. A milk (a)/can provide protein (b)/for

nutritionally balanced diet. (c)/no error (d)
77. A lot of form filling is just red tape (a)/ and

sometimes the forms are so complicated
(b)/that people can’t make head or tail from
them. (c)/no error (d)

78. You are requried to explain (a)/your conduct
within two days (b)/of the receipt of this letter.
(c)/no error (d)

Directions for questions 4 to 6 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. I am satisfied ………… his innocence.

(a) at (b) with (c) for (d) of
80. Ram, along with the members of the family and

that of his friend ………… a movie.
(a) was watching (b) were watching
(c) have been watching (d) watch

81. The manager wanted to meet you ………… the
theft in the office.
(a) referring to (b) with regard
(c) with reference to (d) in connection with

Direction for questions 7 and 8 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Sombre

(a) Gloomy (b) Quiet
(c) Serious (d) Sleepy

83. Regress
(a) Deteriorate (b) Degenerate

(c) back slide (d) Lapse
Directions for questions 9 and 10 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Cumbersome

(a) Heavy (b) Convenient
(c) Smooth (d) Automatic

85. Intelligible
(a) Dull (b) Foolish
(c) Garbled (d) Confused

Directions for questions 11 to 13 : Four alternatives
are given for the Idiom/Phrase underlined in the
sentence. Choose the alternative which best
expresses the meaning of the Idiom/Phrase.
86. To take someone to the task.

(a) to scold someone
(b) To assign work to someone
(c) to take someone to his place of work
(d) to praise someone for the work done.

87. To run some one down.
(a) To be in a hurry (b) To be weak and tired
(c) To disparage someone (d) To come down

88. At snail’s pace.
(a) To do things very slowely
(b) To walk like a snail
(c) To lack interest in work
(d) to do things in methodical manner

Direction for questions 14 to 16 : A part of the
sentecne is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is requried, your answer is (d).
89. While crossing the road a snake was seen.

(a) a snake was moving
(b) he saw a snake
(c) a snake was observed
(d) No improvement

90. If you have studied hard, you would have get a
first class.
(a) If you studied hard
(b) If you had studied hard
(c) If you would study hard
(d) No improvement

91. The new Sultan has been able to bear up all
opposition.
(a) bear off (b) bear down
(c) bear out (d) No improvement

Direction for questions 17 to 19 : Out fo the four
alternatives, choose the one which can be substituted
for the given words/sentence.
92. One who deserts his principle or party
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(a) Apostle (b) Proselyte
(c) Renegade (d) Critic

93. One who intervenes between two or more
parties to settle differences.
(a) neutral (b) Intermediary
(c) Judge (d) Connoisseur

94. The habit of always admiring one self.
(a) Psychosis (b) Neurosis
(c) Narcissism (d) Paranoia

Direction for question 20 : Four words are given in a
question, out of which only one word is correctly
spelt. Find the correctly spelt word.
95. (a) Eficient (b) Sufficant

(c) Magnificent (d) Profficent

Directions for questions 21 to 25 : You have a passage
followed by questions based on it. Read the passage
carefully and choose the best answer to each
question out of the four alternatives

A hybrid is a vehichle which uses two or more kinds
of propulsion. Most hybrid vehichles use a conventional
gasoline engine as well as an electric motor or to provide
power to the vehichle. These are usually called hybrid
electric vehicles, or HEVs. Hybrids use two types of
proplusion in order to use gasoline more efficiently than
conventional vehichles do. Most hybrid vehchles use the
gasoline engine as a generator which sends powers to the
electric motor. The electric motor then powers the car. In
conventional vehichles, the gasoline engine powers the
vehichle directly. Since the main purpose of using a
hybrid system is to efficiently use resources, most hybrid
vehichles also use other efficient system. In conventional
vehichles, the gasoline engine powers the brakes, and the
energy used in braking is lost. In regenerative braking
systems, the energy lost in braking is sent back into the
electical battery for use in powering the vehichle. Some
hybrid vehichles use periodic engine shutoff as a
gas-saving feature. When the vehichle is idle, the engine
temporarily turns off. When the vehichle is put back in
gear, the engine comes back on. Some hybrids use tyres
made of a stiff material which rolls easily and prevents
drag on the vehichle. Since hybrid vehichles use less
gasoline than conventional vehichles, they put fewer
emissions into the atmosphere than conventioanl

vehichles do. As hybrids have become more popular,
conventional vehichles are being used less, and the level
of emissionis being put into the air is decreasing. Hybrid
vehichles are an example of an energy-efficient
technology that is good for both consumers and the
environment.
96. Two kinds of propelling forces used by hybrid

vehichles are :
(a) electric motor and power.
(b) electric engine and generator.
(c) gasoline engine and electric motor.
(d) electrical battery and gasoline.

97. The difference between hybrid and
conventional vehichles is that
(a) Hybrids are heavier as compared to conventional

ones.
(b) hybrids do not use electric motors while

conventional ones do.
(c) hybrids use gas while conventional vehicles use

petrol.
(d) hybrid use two types of proplusions while

conventioanl rely on one.
98. Why do HEVs use two types of propulsions?

(a) To go faster.
(b) To use gasoline efficiently
(c) To provide a comfortable ride
(d) To become environmental friendly

99. ‘Regenerative’ most closely means
(a) Restorative (b) electric
(c) gasoline (d) powerful

100.In the context of the passage which of the
following best articulates how the author
regards the topic?
(a) Conventional vehichles may be more powerful

than hybrid vehicles but hybrid vehichles are
more socially responsible.

(b) Since hybrid vehicles use less gasoline and put
fewer emissions into the atmosphere, they are
better for the environement.

(c) Hybrid vehichles are less expensive, so they are a
smarter buy than conventional vehichles.

(d) Conventional vehichles are faster but hybrid
vehicles are better for the environment

Answer key
1. (c) 2. (a)  3. (b) 4. (a) 5. (c) 6. (d) 7. (b)  8. (d) 9. (c) 10. (d)

11. (a) 12. (b) 13. (a) 14. (a)  15. (d)  16. (d)  17. (a)  18. (c)  19. (a)  20. (a)
 21. (c)  22. (a)  23. (d) 24. (a)  25. (b)  26. (c)  27. (c)  28. (b)  29. (c) 30. (d)
 31. (b) 32. (a)  33. (a)  34. (a)  35. (c)  36. (c)  37. (b)  38. (c)  39. (a) 40. (d)
 41. (b)  42. (c)  43. (a)  44. (b)  45. (b)  46. (d)  47. (c)  48. (b)  49. (c)  50. (a)

51. (a)  52. (c)  53. (d)  54. (a)  55. (b) 56. (c) 57. (c)  58. (d)  59. (b)  60. (c)
 61. (c)  62. (b) 63. (a) 64. (d)  65. (b)  66. (c)  67. (b)  68. (b)  69. (a)  70. (d)
 71. (c)  72. (a)  73. (d)  74. (c)  75. (a)  76. (c)  77. (b)  78. (b) 79. (d)  80. (b)
 81. (d)  82. (b)  83. (b)  84. (d)  85. (a)  86. (a) 87. (c) 88. (d) 89. (a)  90. (d)
 91. (c) 92. (d) 93. (a)  94. (c) 95. (a) 96. (a) 97. (b)  98. (d) 99. (d) 100. (c)
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